Post of Forest Apprentice in Tamil Nadu Forest
Subordinate Service (Group-VI Services)

Filiform apparatus situated in
Hevadlumiib grellser Spseam_eupmier ergein 2 erGen sramrliLBEmg ?

(A) Embryosac (Bygynergids
S(HLIGHLI Hamredl e
(C) Antipodal (D) Egg
< erig CumL_6b (pLep

(E) Answer not known
sllenL QgRwueiideney

Ovular structure associated with directing the growth of pollentube
towards the micropyle

WEIBSSGPM &EGCITenLIE UIBlLITSE GHa)&EE6T cUeTTFS el WLb el

(AWturator (B) Porogamy
T\ I CurGrmGaLs!

(C) Chalaza (D) Funiculus
Feomam Gy efls@aven

(E) Answer not known
eflenL Glgflweiidvana

Which of the following is not a part of female gametophyte?
Yemaumauameumhlad ergy e CalCL e g6 LigH Sicva?

(A) Synergids (B) Secondary nucleus
Semredl(B @rerLmbd Hluysetwen
(C) Antipodal cells (Mine
< emg Guim_é Cedaer ST&HENEVST

(E) Answer not known
eflen Qg Rweildvena
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4,  Ubish bodies produced only by

2 (96l 2 Laib eThGeuens LI L Gdled srariiLihEna?

(A) Invasive tapetum (B) Amoeboid tapetum
ea&p LIS L b SOumO® LS LD
(CV Glandular tapetum (D) Endothelium
SlermenrHioonT LG LLD eramGLTSHwid

(E) Answer not known
cflenL Qgflweloena

5. Pollen transfer between two flower on the same plant is called as
‘warhe gremmeng) @Gy gmaursdled @@ Ceaupul L worseafie Carsms L cug)

@eueumm SiempsstuBEng
(A Geiltonogamy (B) Herkogamy
8 CamGa QanTCarCas
(C) Dichogamy (D) Xenogamy
14 CarGa SCamGad
(E) Answer not known
eflen Gsfwelerene

6. The pseudo-embryosac is formed at
QumismLienL eThIE 2 (heumdlmg ?

(A) Megasporangium (B) Megaspore
QuamavGuirymgheub QuwsrenGum
(C)«/Megaspore Mother Cell (D) Mega Sporophyll

GwsmavGuni gmi Clgd Qe evCunGrmle

(E) Answer not known
aflenL Qgflwefdena
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In tetrasporic embryo sac, the meiotic divisions donot accompanied by

pren@ evGummenL i &(henUiudled Wlwmdlev LigLis e iller BLLndldene.
(A Wall formation (B) Growth

F6UI 2_GRTL_ TS eueTT&s)
(C) Enlargement (D) Drying

Quigrge SMUISE

(E) Answer not known
eenL GgMweleene

The nucellar tissue surrounding the embryo sac persists in the seed and
becomes densely packed with food materials are called

ame_ann oM 2 darer Bluybgaant Saeunag ellaguien Qeuaflliypsdlad o isHuins
e GHUUL L 2 amreyICLIN(HEhEE; erettear GlLuwii?

(A) Endosperm (BMPerisperm
erarGLrevGEUmD Quflev@umb

(C) Pseudo embryosac (D) Chalazosperm
Qumi smeyenry serGamen&umD

(E) Answer not known
aflen QgMweiidene

Collateral, Endarch and open type vascular bundle is characteristics of

CarGeL_ge, eTeRTLTTé HMmID HnbS eurav@GemT shanmulles LTl samens CaTeL g

(AM Dicot stem (B) Monocot stem
Boesdoans sam® g@eisdlons e

(C) Dicot root (D) Monocot root
@meilsHener Gourr pmelilsSlana Ceur

(E) Answer not known
eflen GsMlwetcrane
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10. The peripheral light coloured, wetter, water conducting wood is called
wrastemuie efeaflby uEHuie Hipbd @epeurseyd, Frisaemwuyd wLHNL Baors
SL G0 Flmern Camenr s1_ent_

(A) Heart wood (B)” Sap wood
ENLDULS SHLenL_ STHDIS SOl

(C) Diffuse porous wood (D) Ring porous wood
oar(H(HELD GIEHETEH LD CUENGTIL GIGNETE HL_6GnL_

(E) Answer not known

elen @sflwefdaney
11. Periderm is a protective tissue of - origin
QuAGLTD ererug Hlene Csrhmieumi 2 el UNGISTUIL| Sl& G
(A) primary (BMsecondary
PSD @rerLmb
(C) tertiary (D) quaternary
EPETHITLD BITEIS&ITLD

(E) Answer not known
eflenL GgMwelevenen

12. In Orange seeds, polyembryony was first reported by
vag&mblene ,rers slagsafe samBilysseur

(A) Carolus Linnaeus (B)Antoni Van Leeuwen-hoek
&Crmeven edlerGemwien 3ibGsmet sumen SIGwrtleus gnd
(C) Braun (D) Aristotle
Qg siflavmigd

(E) Answer not known
MenL Gglwefevencn
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13. Which one of the following is non-endospermous plant?
SLPESERTLGUDMIET 6TF) & (1 QLLERT DM ST6UTLD?

(A) Castor bean (B) Coconut

LOERTE S ellens Cgrism

(C)/z‘;ans (D) Cereals
Semen g el ger

(E) Answer not known
sllenL Qg flwefvenay

14. Match the following:

QUMBSSI5:
A B
(a) One sperm with nucleus 1. Fertilization
@@ eilpgl o-Len Bl saflued HHAUDSD
(b) Fusion of male and femal gametes 2. Syngamy
<, WHIHID Ol LiewT GanF6lee SenCGaL
(¢) Double fertilization 3. Apomixis
e HmeymnHeD 2UGUTA&ESev
(d) Seeds without fertilization 4. Anglosperm
S(HEYDISE @M efleng 2 (HeuTge 2 EFCumavEILITLD

@& ® © @

A) 4 3 1 2
B) 3 4 2 1
© 1 2 3 4
(D 1 4 3
(E) Answer not known
edlenL G Mweicvencn
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15. The occurance of more than one embryo in a seed is called
@@ ellensulleh Fp&HEGMDW enisE CHUL L & QHHSTD

(A) Parthenogenesis (B) Syngamy
unisHGenmlaeaiflev SenGaLd

(C) Apogamy (Molyembryony
ENEBLEETT Licua (bl eney

(E) Answer not known
eflenL Qs flwelcvenay

16. Cleavage polyembryony arising during seed development as very

common 1n
Meng 2 maun@bGUIg Werey vesEhme Spssam_aunie odd CQurgeurs
smenrliLh &g ?
(A) Flowers (B) Vegetables
L& & STUISDISET
(C) Pulses (OyBrchids
LW MIGUEN&SET 9 TSI

(E) Answer not known

sflenL Qzflweldvena
17. Collenchyma cells have at maturity
i Fleveuder Cameereansiom GFser 2_ELILIGHE
(Amiving protoplast (B) trichomes
aum(pd YCGrm Grmarmev -6 r&CHMDEET
(C) air space (D) stones
srom Geuatudbd SH&ET

(E) Answer not known
aflen Qg Mweildvancn
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18.

19.

20.

The variation in contents of parenchyma cells intimately related to

urrenenswn  Cedsefles o dter Qumr@plser oECgaedsn QBmESLTS
QUMHSS5S.
(A) the age (BY?activity of the cell
UM GFweumhaener
(C) time and position (D) size of.cell
&me wHmID Hlene Qedrellan oemeneu

(E) Answer not known
aflenL Ggflweldenan

Meristems perpetuate themselves as .
D,5G SFEHET FRiGmET 2566 fleneblmssls Carardlenpan.

(A) simple tissues (B) complex tissues
eraflws Slasaer gl (n Hlass6r
(Mneristematic tissues (D) roots
5@ Hasaen Ceulisar

(E) Answer not known
eflenL Cgflweldenen

The meristems are described as

QuoflevGLbaer Saggenns dluliuBdlemme.

(A) Necrotic tissue ( ormative tissue
QAp&Crmg & Hassar 2 (HEUTSHELD Hle&EeT

(C) Complex tissue (D) Glandular tissue
gl () Hasasar sy Slasaer

(E) Answer not known
dllent Qg flweflerena
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21. Olericulture is the study of

pafléaddst arangl LD Lig g ?

(AW Vegetables (B) Fruits
smig LILpLD

(C) Flowers (D) Gardening
oGO CsrlLid

(E) Answer not known
eflenL Qg flwelcrene

22. The rate of photosynthesis 1s maximum in
ECLp Qanésiiu’_Herer srauyhisaiid gafléCetsons eigsb fsupanw sTaurLIaTS)

(A) Brinjal plant (BY'Sugarcane
&&SMG g1 &ML

(C) Pea (D) Papaya
ULl uuimer

(E) Answer not known
eflenL Qg flwelcrens
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23.

24.

Cyeclic photophosphorylation is confined to
s gafl unevurfsrargens o nidlliL(HS eug)

A¥ PS-1
palls@srgliy — I
B) PS-1II

gafsQsreuy — II
(C) PS-IandPS-1II

aaflsQsreuy — I whmw alls@srEuy — 11
(D) F1 particle of mitochondria

el GLrsrang lwuneler F1 gisarsafia

(E) Answer not known
eflenL GsMwelcrenay

Deficiency of iron causes
oLy LHPIEGD sreurmsatay gHLIHD Sil@hlsarmeng
(A) Reduced leaves and stunted growth
@ee AnSEHe HMILD eueTiFs Genmseo
(B) Bending of leaf tip

ene Flerfl uenemgen
(C)}ﬂltervenial chlorosis first in young leaves
Gemb Gevavsailen BribLsEhsSleLCuw wEpsar HDTE WM
(D) Decrease in protein synthesis
HrasFCensans Gamnse
(E) Answer not known
eflenL @z fMweilcrenc
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25. The yellowing of leaves, is usually caused by deficiency of
THS F&S) GMDUTL g &TMed @)ener&aT Ehaat Elmoms wrmidlng)?

(A) Sodium (B) Phosphorus
Camgwild UImeLITE
(C) Calcium (DYMagnesium
STedWLb Quseatflwid

(E) Answer not known
sflenL Qaflweidena

26. Which of the following is macronutrient?
ECip QarRasLiu_Hidren erg s siemeileh Freumd LweTULHSFHID 2 arapl L LiGlurtmer

(AY Calcium (B) Molybdenum
Snedlwid LomeSILig &oTLd
(C) Manganese (D) Zinc
Lo ISt &ISSHTSHLD

(E) Answer not known
eflenL Qzflwelevena

27. Transpiration pull and cohesion theory was proposed by
BrrefLCuns@ @eiiens wHMID @1 ig eena] Gam_um’ e sadluig wmi?

(A) Stephen Hales (BY Dixon and Jolly
evte L6l Qameeren g SEV6T LHMILD mmell
(C) J.C. Bose (D) Godleski
dJ.C. Gumev &1_Qeveuevs)

(E) Answer not known
aflen G flwelcrens
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28. DPD is equal to
LITeYS60lel (PSS HEGMME CTETUF] TSHM (S FLOLOTETE)?

(A) OP (B) OP + WP
OP OP + WP
(C) TP oyBP - WP
TP OP - WP
(E) Answer not known
eflen Qs flwefdene

29. A cell placed in hypertonic sollution shows shrinkage of protoplasm due

to

@@y Osweme @iganr  suapBuru®  WPSsSMSL  sflsapdrar  sapaeiied

eeus@Ehbunpg ger  YCrmlCLm.lbetmanoneg  sHEIEGSnE

SienpsslnRidng)

(AW Plasmolysis (B) Endosmosis
WermevGomenadlev GTemTL_meLo mendleh

(C) Osmosis (D) Imbibition
seugp( LiFeud o erafisse

(E) Answer not known
cllenL QgMwealarenaw

30. Lock and key hypothesis of enzyme action was given by
YL erefl Car_un® (enzyme action) siflapsiiLBeHweurt wri?

(A) Buchner (B) Koshland

o oLIGGHTIT Gamevevmas
(Cﬁscher (D) Kuhne

o oLAlG eI &&Cen

(E) Answer not known
ellenL @sflwefeane
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31. Which class of the enzyme, the pepsin is?
QuUSlen eTHS euansemu FTTHS WBTAumEn?

(A) Oxidoreductases (B) Transferases
HelGLmil_&GLenen () 0= (2 VAR ATITES = 3T
(CW Hydrolases (D) Ligases
enam_GrrGeeven SIGsenev

(E) Answer not known
sflenL Qg flwefdana

32. Who coined the word enzyme?

" GTEMENELD GTEm euMTdeng el (PpGedled Litem(BGSl weuit wimm?

(A) Traube (BY Kuhne
Cgmi GSCen

(C) Buchner (D) Sumner
o sLIGETIT e

(E) Answer not known
eflenL. Qgflweldency

33. Where the double hydrogen bond occurs in between the Nitrogenous

bases of DNA?
lg.6Teor.¢f. efled el emLrmen &MysSlnHE Qe ule Qe enant ygen SlenemrliLsaT
srerrLIuBHE g ?
(A) Adenine and Guanine (B) Uracil and Thymine
Sllg METET LOHAYLD G 6L TERnesT6 W Grdleb wmmib engLile
((X/ Adenine and Thymine (D) Thymine and Cytosine
3 1q. MG LODIYLD e LOl6DT aoagdler wHmb g GLmdlen

(E) Answer not known
sllanL Ggflwelicvena
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34. Who discovered double Helix DNA model?

lg.eTeT.67. elen LLjed G&all&en enwtienus sy s eur wmm?

35.

36.

(A) Korenberg
GamrenGluié

(C)/Watson and Crick
eurL_gen HmD &flé

(E) Answer not known
eflenL. Ggflwefdena

Caesin present in milk is a

umeSleb smerTiiLIID CHAGT eTamLig) (b

(A) Fat
Qampoy

(CM™" Protein
L&D

(E) Answer not known
sflen Qzfweldwenay

(B) Nirenberg
enmpiyerluiTs

(D) Holley and Nirenberg
Gammell wmmibd enprenuns

(B) Carbohydrate

& Gumepant Gy

(D) Nucleic acid
Bl gefls idleriser

Which of the following amino acid found in protein structure?

EC Qar@sasiiu’Laeusailar Lys e sramiu@n HiuGarm sulewrears

(A) Arginine
2, Telenestent

(C) Lysine
anevéle

(E) Answer not known
cflenL Qgflweldrensw

(B) Histidine

qublaivig.anL_.6b

(WAothionine

QusHCuinenaren
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37. Ergosterol is found in

eriGamavie ey SmenT ILI(Heug)

(A)

(©)

(E)

Animals (BY Yeast and Fungi
clHleomiGsar FFGVL DHMILD LLEHeNF&HET
Algae (D) Pteridophytes
uirélser QLAGL.mepu_(Daer

Answer not known
ellanL Ggfweicrane

38. Glucose is stored as glycogen in

flenensGangarns GensGaratienen CANGED 2 muLTeg) *

(A)

(®)

(E)

Pancreas (B) Bone
SENERATUILD eTEYILDLY
Kidney (Dygjrer
Amybysid FH0TeD

Answer not known
sllenL GAsflwefcena

39. Chitin is found in the cell wall of fungi, structurally which is a

L erengaeatien Clgawaeuticd sranrliuib engliq 6 eTemUS) (T

(A)A—Iomopolysaccharide (B) Heteropolysaccharide
CaprGururelsrgsamy(H Qan1gGrrurellsrssamq(h

(C) Mucopolysaccharide (D) Conjugated protein
Wy Gsrunadlgnéaanr(h L&SE@)nenTa | L{JHLD

(E) Answer not known

Botany
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40. Which of the following is not an aldose sugar?

£C Qarpssliul Heramarcusatie 61gl LHGLTEL Fi&sHmT @oena?

(A) Glucose (B) Galactose
Ger&EGaman GCaasGLmen
(C) Mannose (D)’ﬁ"uctose
wrGarmen o o1 &EGL_Ten

(E) Answer not known
ellen Gz Nwiedcoenew

41.
Consider the following pairs:

Qemeu(mDd G)enamrsenar MmSSle Clsmers. .
I. Ginkgo — Living fossil
slEGasmun - 2 uilmerer GgméLigeubd
II. Chemoheterotrophs — First life forms on earth
Goud) gmirewrent] - L biuller Ggrenilw apged 2 ullflembd
III. Vestigial organ — Nail
6868 2 MILIL - B&LD
Which of the pair given above are correct?
Cup@dublL Genamsaticr arg) &l ?

(A)\élnd II (B) II and I1I
I wopmo IT IT whmw IT1
(C) TandlIII (D) I, II and I
I wihmo T L II wpgw IT1

(E) Answer not known
eflenL GgMweiidane
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42. Mutation may also be described as
#HS LrODSns @leucurm efleTssemD?
(A) Continuous genetic variation

Qgr_r&flwines oFLIEH) LOMDHDLD
(B) Phenotypic change
LSGCHTHO rHm D
(C)/Discontinuous genetic variation
QgrurgSwhp WILGD THDHLD
(D) Change due to hybridization
SOULIAREHTED 2 (Heun@Lb WITHHLD
(E) Answer.not known
eflenL Gsfuwieferena

43. Two Zoogeographical regions separated by high mountain ranges are
@ren(p efekig yelwenwiiy WrGsen s 2 wigwrer weva urilieme GfssuuL(H
BoLusl
(A) Oriental and Australian

gflwien_ed HHID e Creduwier
(B) Neoartic and Palaeoarctic
j’@wrrc%fnq_é; HmIb UNGWITey, a4
(CV Palaeoarctic and Oriental
LSl Cuimey &g & HMW gflwiem
(D) Neotrophical and Ethiopian
BCwmg griig s whmid ersHCwmlGwer
(E) Answer not known
cflenL Csfiweleenc
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44. Which of the following descriptions of chromosomes is not correctly

45.

matched?

&G Gar@ssuul@earer  GCrmGonGsmbd  upd  eleuflgzeley gy sfluns

Qun@mbseilerenan?

(A) Metacentric — Chromosome arms are almost equal in size
Qi nQgen fs - @GrmGunGsnllen Berd gnéH@EGemW Fowrem erelle
BEEGL.

(B) Sub-metacentric — Chromosome arms are slightly different in size

eant QL t_nQgen’ Mg - @CrmGurGsmAen Fembd shm NsHwnFons @) HSED

(CW Acrocentric — Chromosome arms are identical in size

21&CymQsan Mg - @CrmGurGamblen Ser wiearey s sflwirer Siarelle @(ﬂj&;@m

" (D) Telocentric — There is only one chromosome arm

e GarQaean Ms - @Cr g @CrmGurGamb HL & wi Hb GEw&EELD

(E) Answer not known
aflen Ggflwellcena

The pectin and other mucilaginous substances of the plant cell wall are
synthesized in

smeuy GFaeler 2 eter GQusyenm wHmbw sy BlyfCadlaen Qummlsmer 2 HuSH
Qedlicug

(A)ﬁrolgi complex (B) Plasma membrane
sreg) Gam@ly QermevLom seue]

(C) Endoplasmic reticulum (D) Vesicles
erarGLmiaTns auene Qeudlsdlar

(E) Answer not known
eflenL Qs fMweidrene
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46. Prokaryotic origin or symbiont hypothesis of mitochondria was proposed
by
ol GLrererg flwurelenr  LCrnGsflum  GCsmarpey ez sl Huifl  aperms
Camlumigenen apenGlinmibgeumser

(A)/Altmann and Schimper (B) Schleiden and Schwann
<24, LDTET D MILD LT aeL6tr oHmID cigsHeuren
(C) Ashwell and Work (D) Parson and Simpson
< 6vGleue wHmyb Qeumré umgen WwHmb Sibae

(E) Answer not known
eflenL Qg Mweilevenay

47. ATP production in prokaryotes take place through
LGrmGasRwn sefleo ATP o huigd) penL Quimd G omaig)

(A) Lysosomes (B Mesosomes
anaGeTGembaeT BCeTGembaer
(C) Liposomes (D) Polysomes
eauGurGgmbaer el Gambger

(E) Answer not known
eflent_ Agflwaldena
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48.

49.

Consider the following statements:
Spanamib euTGSHurigEmeT Sl Camers.

Assertion [A] : Interphase is also called as resting phase.

sapm [A] . Qe flevawnang guieflena ararab SimpssLLBEns.

Reason [R] : Ininterphase the cell prepare itself for cell division

smyewd [R) : Qeduguinsrs Qedoreang seaaman SWMTLIHSHECSTETEHLD
HlavaGuw @enL HlencwimgLb.

(A)/[A] and [R] are correct and [R] is the correct explanation of [A]
[A] womgw [R] @raw@Cw &fl Cuauw [R] g [A]l-Qdsrer efwmer
oSlend i
(B) [A] and [R] are correct but [R] is not the correct explanation
of [A]
[A] womio [R] &M, epemmed [R] eramug) [A]-sfnsrer sfwner eferssid e
(C) [A]is true but [R] is false
[A] #fl yyemmed [R] seumy
(D) [A]is false and [R] is true
[A] seumy <gyenmed [R] &
(E) Answer not known
eflen @z Mweicrenen

Which of the following is unique to mitosis and not a part of meiosis?
ECyp Qer@Rssiiul Reraraeuried ergy ewLndlalisE 2w sefluiul L ugTuTSaD
whnid Wwurfledld ugulkbnE QuTmbHSTSE!.
(A) Homologous chromosomes pair and form bivalents
258 GCITGLrGsmb Gy Garge wHmID mUGCaETL 2 (HeuTge
(B) Chromatids are separated during Anaphase
Sians Guav Hleneudler @Grmomg L Haer 9fge
(C)/ﬁomologous chromosomes behave independently
268 GCrmGwnGenbser sanafléamswins QeuouBse
(D) Homologous chromosomes cross over
268 GCmGunGsmbsafisflan, Cuwnen Gn&Gs sws5H®
(E) Answer not known
eflenL Ggsflweleeme
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50. DNA replication is
DNA QrdQu@psse eranLig
(A) Conservative continuous
erwrer whmid Agm_réflurer uriGsby

( Semai-conservative and discontinous
uEd Qarursfupn LRGHDHL

(C) Daispersive continuous
QarLr&fluine semewbd SETenLow|enL g,

(D) Semi-conservative and continuous
Qarr&flurer ugd umGsEHL

(E) Answer not known
ellenL @gMwelcrenay

51. Light induced release of O2 and H20 takes place in
gafl gram@seored Oz whmw HeO Qeauefiunghd fepey et Qumib @b

(A) Photosystem I (BYPhotosystem II
gafl QareLy 1 gafl Qgreiy I1

(C) Stroma (D) Outer Membrane of Chloroplast
euL_Gpmom nahisamilssden Ceuafl seuey

(E) Answer not known
ellenL Gsflwelcrenen
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52. The Secretory granules in the cavity of endoplasmic reticulum was

observed by
canGLmles  aeoule odar  GPsalld  sraTUUBD  SIEGL  GlEETHMET
ST HSeUT
(A)  Golgi (BY salade
STevgd uimev (i)
(C) Christensen (D) Porter
HMevG_enrQgen Guimrir

(E) Answer not known
cflenL Qgflweflerena

53. Kinetosomes are located at the base of
n&EBLCLmCambaer aTgen g LLGHuflér semwndmessne?

(ANW”Cilia and Flagella (B) Microtubules
Halwm opmd sensulianip TR GRT@LPGOEET

(C) Eye spot (D) Pyrenoid
SeT LG euflermiuBaser

(E) Answer not known
sflenL QgMwefdrene
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54. The two sugars present in bacterial cell wall is
unste flwireller Qad aeufléd sreriLin Gran( srésmiser
(AW N-acetyl glucosamine and N-acetyl muramic acid
N-sifll L@ ensCareamwer whmd N-8ll e d aprmsls eislen
(B) N-acetyl glucosamine and Diaminopimelic acid
N- <=8l @ ensCansamwar wHmb e sBiGanm eLilells oisleb
(C) N-acetyl muramic acid and Diaminopimelic acid
N-oifliené aprmsls siflen whmb e siOGearr enuflells susloid
(D) Diaminopimelic acid and MuCOpeptide
e Garm enLiblells bleod woHmid WBIGWTEGsT Culien_(H

(E) Answer not known-
ellanL_ Qs Mwieficreney

55. Phylogenetic system of classification is mainly based on
Iy audl euensILn(h eTgenar (pFenanlowing:s tsman® cuamslu(BSsUHSHng ?

(A) Floral characters (BY Evolutionary relationships
Lpeiles LieRTL ST uflertmo QT Tyger

(C) Morphological characters (D) Chemical constituents
LHnSCSTHD LIesTL|SeT Coudlls QummL_gar

(E) Answer not known
eflenL Gz flweiicrena

56. What 1s the age of the earth as per the latest radiometric dating?
Siamenwssane CrgCumtlol Mg euwg samsdleniig Ludluller sHCUTMSW auLISTETS)

(A) 4.50 billion years (B) 4.57 billion years

4.50 Yevellwietr oy e (Hidser 4.57 Qevrellwen <y er(Haar
(C) 4.52 billion years (D%M billion years

4.52 Sevedlwetr sy,a(hasaer 4.54 QéveSlwien gy er(hger

(E) Answer not known
eflenL QgMweleenan

Botany 24



57.

. H8.

59.

The first domesticated animal by primitive man was
ULPRIGTE Wwellsammed (pgeim (psedle arnhs ellwmdlaisans uwdl sarg s_HUUTL (h&@eT

Qamesr(® eupliulLg?

(A) Cat (B%g
B

%LGE)Q)T
(C) Horse ' (D) Cow
Gdlenr wr{H
(E) Answer not known
sflenL Qg flwelcrenav

“Origin of species” was written by
“SpHlerdseflen CErHmLL” aTenm LsSES5mS eTpdlweur

(A) Oparin (B) Lamarck
umflest GULDITIT&
(CY Darwin (D) Welsmann
LmireSle QaulieGLoest

(E) Answer not known
eflenL Qs flweidene

Evolution of different species in a given area starting from a point and
spreading to other geographical area is known as

uGaumy Epdlemisaiien uflenrmob @m QLSS MBS Geukd wHD LeSwienwiy
LEGESEREE UTaeums @eleumn epssUuBSng

(A) Migration (B) Divergent evolution
’ﬁl_ﬁn@umr'rm QeucuGeumy eudl LflamTmiotd
(C™ Adaptive radiation (D) Natural selection
sEeueLIY &l Telée Qupens Camay

(E) Answer not known
cllenL Gz fweildene
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60. Consider the following pair:
dlereu(mid @eneraaneT SHSHe ClETaTs:
L. Genetic drift — Smaller population
LIUE FM&S0 - bl Glendsal L b
II. Cellulose — Abundant organic compound on earth
Qevg)Geamen - LuSulled iflawns sramin@mim Mo Quager
III. Cycas — Living fossil
m&sen - 2 udlmeter Glgmeguuii Ligold
IV. Convergent evolution — Rat and Dog
@55 uflesmo eueridsl - erell wHmID BT
Which of the pair given above is wrong?
CunEubL L @enemagafldh eTa Heummeng ?
(A>/?V (B) 1I

(C) 1I (D) I

(E) Answer not known
ellenL Qasfwueidrene
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61.

Match List I and List II correctly and select your answer using codes

given below:

aflms I womnd awflews II g Quimsd Spssam_cubfle sflwuma sleLmws

CaipesE.
(a) Trophical forests
Ceuliuoar_esé snHaer
(b) Sub-Trophical forests
WO g-CleuiLbeRTL_6vd &THger
(¢) Temperate forests
ST c0& &T(HSET
(d) Alphine forests
LOENUIET SHT(N&ET
@ ® © @@
(AV 4 3 2
B) 3 2 1
€ 2 1 4
D 1 4 3

(E) Answer not known
slenL Gsflwellevenen

N W o

27
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Smilax
AUENLORMTEEV
Rhododendron
CrnGLr@Lsnymesmav
Quercus

GT&Han

Mangifera
wrEgpflugT -
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62. Find out the famous national parks in Tamilnadu.
SOIPETL g6 2 ater Yspblupm Cadlw LmisT 6rg)?
(A) Desert National Park, Thanjavur

uneneeuer CeAW LLBIST, SEHFTaLT
(B) Sirohi National Park, Mayiladuthurai
SCyrd) GCaHw Lyiiam, wuleonhgien
(C)A}uindy National Park, Chennai
ey CaFlw Ymism, Cecrane
(D) Pench National Park, Thirunelvel
QuEss Csflw yrusr, AmAnaGaua
(E) . Answer not known
sflenL Qg flwelerenay

63. Which 1s wrongly matched related to ecosystem?

ELpsaam_cupmer ergy sflwns Qurmssiu_eldeame?

I Inorganic components : Dead and decomposed bodies
aflssliy uEdser - @nHS wHmb LI AUCUTeT 2 Ul

II. Organic components: Excretory materials of organism
SImss LGdlser - 2 ulflgafler sifleyd) Gurmisar

ITI. Physical components: Sunlight and rainfall
QupQue ugdlse - @fwuegad LHMI werBiT

IV. Biotic components: Plants, animals and microbes
o Wimerer LGHEeT - STeUTRIGET, elleBI@SeT HMID Hiewrentiudfser

(A)/I‘ (B) 1I

(C) 1III D) IV
(E) Answer not known
sflenL Ggflwelcvena
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64. The primary cause of acid rain is

2jile wenLpuller (pseblana smyemnf]
(A) NO: (B)%z
(C) O (D) COq
(E) Answer not known

allenL Qs flweidena

65. In succession on bave rock surface the first colonies are
ng‘rﬂmm apanpuliled Geupmy urenpaeiier cuerrdgaly L s 2 Wilflaroreang

(AW” Lichenes (B) Fungi
MVEHENGET LL@EhenESET

(C) Bryophytes (D) Brown algae
QenrCuwmenu_(H&er upuy undlger

(E) Answer not known
eflenL Glgfweferency
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66. Red data Book provides data on

Sleuliy efleu LUSSHID eThS CUMSWITEN SHELUREEET S(HHME?
(A) Biota of Red sea

QenisL_d 2 ulfentiser
(B)/I‘hreatened species

SAPwssn1qw Hleneulled 2 arar 2 ulMenmisar
(C) Existing species

sH@unpg) 2 erer 2 uilflarmbiser
(D) Fossils

@gmeoug LomBISET
(E) Answer not known

eflenL Qg flwellcrenav

67. Which causes Tip burn due to accumulation in leaves of conifers?

Camaflun sreuriisaiied pafl smE@Gseo puUL (p&ESlws sryentl eremen?

(AW Fluoride (B) CFC
HGerreny(h 8o 8.

(C) Mercury (D) Lead
UMST&LD s

(E) Answer not known
eflenL Gz flweldene

68. The Environmental Protection Act became effective in India is from
@ndwureiles &HNFGHLO UTHSTULE SLLLD rjaymgpuu(ﬂggﬁuf_L e ()
19

(A) 1984 B 86
(C) 1989 (D) 1991
(E) Answer not known

eenL Qg flweldvena
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69. CFCs are widely used as
CFCs Qungieunen Lwanmeng,

(A) Propellants (B) Heaters
2 3558 erfldummens QeuiLCupmib snraflurs
(Cﬁoolants (D) Conductors
GefielLumenTs e sL_gHlwins

(E) Answer not known
eflenL G flwelerane

70. When the plants are said to be psammophytes, it means they grown on

CaGumeul_HEeT oTam AMPSSILIHWD STEUNBIGET ereucuens Hleooluginde euemmLd -

SENENLOW|EDL_LIGNE?
(A) Saline soils (B) Acidic soil
2 L1 fleotd 2Ll LoesT
(C)/Sand surface (D) Rock surfaces
LeRTHUIFLILY urenmuilesr GopLimiiy
(E) Answer not known
e Gghlwellovenc

71. Which one of the following serves as good indicator of land productivity?
Epssam_ameusefle  Fflogdlar o pusd Smwer Ceefluu@ssd smrefluns

Qrweu(heug 618?

(A) Grass lands (BY Forests
LevGleue EICET

(C) Pond ecosystems (D) Desert
@6 LpIBlanay ETL GV LIMEnEELGILD

(E) Answer not known
elen. Qgflwefdena
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72. Eutrophication leads to
Brflencseflcr o amrap L LGUMEEL 6T flswns Goaflasiul L sryenTDd
(ALAn algal blooms
2,O&MEEa 6 D HlEUIUIg wiTe eueTiFS)
(B) Ozone depletion
@Ganen UL HengeuamLga
(C) Acid rain
S|le enLp
(D) Global warming

e Qeuliowinmged

(E) Answer not known
sllenL Qg flweicena

73. The following bacteria which are used in milk industry for the production
of milk products

unelleflphg QupLUGD 2 eweL@urmlgmer sumilusnE Cgmiibsrenasartd
Epsean unse lungsear Guflgb o gadmg?
(A) Rhizobium and Lactobacillus
anpGamiwib whmyb CasGLrGuddeen
(B)A,actobacillus and Streptococcus
CasCLmGuildeey wHmib V@ TIGL T&&s6
(C) Lactobacillus and Pseudomonas
CasCLnGuélevere wmmid G&GLrGomarmen
(D) Streptococcus and E.coli
QLTI n&résen wHmb . Camel]
(E) Answer not known
efenL Qg flwedldena
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74. Natural gas mainly contains
@Quinens eurweliler Siflans srerTlLIHeug

(A) Carbondioxide (B) Oxygen
sflwisle aumuy SiyresnT eumyy

(C\/ Methane (D) Chlorine
85 Ggen @Garmflan

(E) Answer not known
eflen GsMweldrenc

75. The major components of Liquid Petroleum Gas (LPG) 1s
Areulenay Qui_CymeSlur eumyelléy eThg eumusser s Siateilay srenTULIH MG ?

(A) Methane and Butane (B) Methane and Ethane
B5CHem odmib Ly GLss B&CHer whpmib FEGSH6m

(C)/Propane and Butane (D) Propane and Methane
yrCuer ommid Ly GL e yrGuetr wHmib BEHEH e

(E) Answer not known
ellen Gz flwelcrene

76. Which one of the following biogeochemical cycle is most dependent on
Bacteria is

arbg 2 udli el GaufluGtwied sphflureng unseflitkisaner Quflgib sribg drerg)?

(A) Water cycle (B) Carbon cycle
SERTERTT HLPHS] STTUGH &HPHE]
(C)/I‘\Iitrogen cycle (D) Phosphorus cycle

enpLTegen SHLpHS) umevUren SHphé)

(E) Answer not known
ellenL Qg flweldane
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77. Which of the following has been declining globally over the past several
decades?

SDSETLcLDIIET GTeneL 2608 TN LI Y, m(hsernts @Gamnba! eumang)?
(A) Nitrous oxide levels in the troposphere

QeutiLs ETL @ i (HESI6T BTN HENFlq6HT 66
(B) Methane level in the troposphere

Qauliu e D HsSlen 55Casaflen oeray
(C) Halo carbon levels in the troposphere

euliLt et 2 (hadlen 2_arer anGansriuiailer ierey

(D)/SH of the oceans

sLalen pH wdliy
(E) Answer not known

dlenL Qgflueierenay

78. In which global agreement, a discussion mode to reduce the release of
ozone depleting substances

ahs 28 BT _Igd @Gsrer LLasms uTagd smafamer sLHUBSS g LD

efleundlasrinLg)?

(A) Rio De Janeiro Conference (B} Montreal Protocol
MCwmq GgeGym wrpr(H wmesrig flwie wrpr®

(C) Kyoto Protocol (D) Vienna Convention
ACGwr G wrBrH eflwenanm LomBI(H

(E) Answer not known
efenL Qs flweddeane
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79.

80.

Salt Marsh are known as

ggltiL Flevg STeumISET eTeueunn Senpsasliu(Hb

(A) Mesophytes (B) Hydrophytes
WIGCFTLIL_(H&ET enamt Grmepu’_(Haer

(C¥ Halophytes (D) Xerophytes
CannGermeru_([Hser ECymevul_H&er

(E) Answer not known
dlen Qg flweierenaw

Acid rain is formed due to contribution from the following pair of gases
SFhG euens eumuGsatan Carsansuilanmed Sible wanyp gouBiEng?
(A) Methane and Ozone
B5GHem wHmLD Camen
(B) Oxygen and Nitrous oxide
SpGedleeT HmID bl Iev Dp&Eams(H
(C) Methane and Sulphur dioxide
»)g@g)ﬁh LOHMID FOLITENL. pEME(H
(D) Nitrogen oxides and Sulphur dioxide
BLTR6T &E(H LHMID FOLITEL B,&H&(H
(E) Answer not known
sflenL Qgflweldrene
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81. Shrubs and trees planted on regular interval in a garden is called
Cam_Lmsaled ysTblguser weg wrrsmer sflwurer @enLCeuaflulies BLB @
Qar_rafluner sienwlienU gHUBSSID euansuilenar G)eueumiy enpLiLi?

(A) Paths ( edge
auil PUUBT

(C) Fencing (D) Arches
Ceuslluli(psed CUENGETEL BINLDGHHED

(E) Answer not known
eflent_ Qg flweicdrena

82. The term ideotype is introduced by
@ CurenL i ergyib eumigengenw MlpasliLBGSweuT

(A Donald (B) Beaven
QLrmenméd () Cueuen

(C) Batson & Punnet (D) Morgan
Gui_ger & Leman_ LOMT&EHT

(E) Answer not known
ellenL Az Mweldrena

83. It is a division of horticulture involved with production of trees
rhsemer 2 HusH Qe Gl ssemaulier g tdfey

(A) Olericulture | (B%boriculture
geoflgagsm <, TGumflgFst

(C) Turf culture (D) Pomology
L_fTool) SGOEST Gumomegd)

(E) Answer not known
ellenL Ggflwelcoena
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84. Pure line breed refers to

895.

gwalfl Gairey QUEmESL eraLg)
(A) Heterozygous only
SPUIL| HHE|MISHe L (HId
(BY Homozygous only
@58 HHUDSD LOLHILD
(C) Homozygous and self assortment
P68 SHOUDISD LOHMILD HLILIED (HEEGS
(D) Heterozygous and linkage
SeLiL| S(HeynS HMILD enerTLiL]

(E) Answer not known

ellenL_ GgMweldenc

The main aim of plant breeding is
gsreuy GumEEsHe (psHu Qararens g ?
(A)Ao produce improved varieties
CuibuBsstul L gamigmer 2 HuSS Celise
(B) To make soil fertile
GUETLOITEIT LOGTEUETHENG 2 (THEUTEH G560
(C) To control pollution
wr&UHSML S_HULHSSISH0
(D) To improve biodiversity
uegyuilitgaranneni GobLHésSe
(E) Answer not known
eflenL Qs flwefena
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86. Mutation breeding of wheat was done by

Hledrhn dumsssms Canglenn Qg uild samHitiy Seu

(A) Rajendra Singh Paroda
GQrrCgndlr A uGyrim

(C) Schmidt
augntdlig

(E) Answer not known
eflenL Qg flwelcrena

87. Paddy belongs to the family

Ape ahs GHLLSHS CaTbsg? |
(A) Rubiaceae

aplAGWA
(C) Rutaceae

ap_GL &

(E) Answer not known
eflenL Qg Mweildwena

88. Sugarcane belongs to the genus
& en Guiflemd QLT ereme?
(A)/Saccharum
F&GMTLD

(C) Vinca
g

(E) Answer not known
eflenL GgMwelicrenav

Botany

(BYM.S. Swaminathan
M.S. seumfiprgen

(D) Kihara
famym

(B’éceae

o oGLUTGW&

(D) Annonaceae
HCenmGend

(B) Annoa

2 Gerrrenm

(D) Oryza

QENTET
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89. Cotton belongs to the Genus
umdSullesr Guifiems QU erebren?

(AM Gossypium (B) Oryza
Smevl§uwib PEOTFN

(C) Vinca (D) Saccharum
elleram F&STILD

(E) Answer not known
eflenL Qg flweidane

90. Emasculation is the removal of
* <G DAL TESLD GTETLIG) - BE@s0

(AW Anthers (B) Carpel
LOSIHSLD DD

(C) Pistal (D) Flowers
@HEO&LD L

(E) Answer not known
eflen G flweldana

91. Pomology is the cultivation of

CunGres) eremLig LR BSD 24 @Ld.

(A) Vegetable (B) Flower
ST 1) LDGVIT

(O ruit (D) Tree
LILpLD LDITLD

Answer not known
eflenL Qg flweicdrenav

(E)
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92. Floriculture refers to cultivation of

o oyCormflascoda eraTLg) LA HS0 y@LWb.

(A)/Flowers (B) Vegetables
LiSEHenan SMUSE®ET

(C) Fruits (D) Trees
LILDMRIGEDEIT (DI RIS GHEIT

(E) Answer not known
eflenL Ggflwedldwens

93. The following method is not applicable for hybridisation
EpsaamL e1hg (paneruiier selibeanonsasdle o LCUITSES 1y wing
(A) Inter varietal cross pollination
s @sdlenL Cuiwirer wowsrhs Cersans

(B Grafting

L0 Curhige
(C) Inter specific cross pollination

Am e ené@ Qe Cuwmear Swd warps GCaisans
(D) Inter generic cross pollination

CuilenmisEréE et Cuwmer w6 warHs Carsame

(E) Answer not known
eflenL Qgflwelevenan
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94.

95.

The young buds of Rose plants are to encourage branching
Goreggm Geguller Gemd Qum (R&ser Slavergg euary Celwiu(BHeugsHeTs
Celwuu@dlermen

(A) nourished (B)'ﬂgbudded by pinching
oerl” L oaflGaUL(hdlermen Sarafl erdlw LB Elewmen
(C) applying fertilizer (D) watering
2 MBS Brumissge

(E) Answer not known
sfen_ Qg tlwefrena

Match the types of practice with types of plants.
WWemeu(mid sene LD S DD Freur cuenssaner QUT(HSSIS.

Practice Types of plants
Y2 SM6U[T CUGNESET

(a) Floriculture 1. Ground cover plants
LOGVIT FM(G LG BlooliupliL) STeurmriser

(b) Landscaping 2. Seedhings and cuttings
Bleotiuriiyg Camiiib BrHMISET wHmbD CuUTss)

(¢) Nursery 3. Cut flowers and greenery
BIDHDEISTE SIPEG LOMT&HET LOPMILD Fenlp Clag.ser
@ ® (©

A 1 2 3
® 1 3 2
© 3. 2 1

ovs 1 2

(E) Answer not known
sflenL Qg flweldvana
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96. Match the vegetables to their attributes:
SMUSHlEeneTLLD LIGhTLSeneTULD ClLINHES)5.

(a) Curry leaf 1. Flavouring edible fruits
sHCeul19ena wanrepl (Kb 2 _awre safloiens

(b) Drumstick 2. Leguminous vegetable
p(HBINS @mum Cleug.saf auens sm

(¢) French bean 3. Perennial tree
QaErggeueny UeTeRT(H) LD

@ ®m (©
(A) 3 2 1
&3 1 2
© 1 2 3
D) 2 1 3
(E) Answer not known
eflenL Qgflweidrena

97. The stock and scion are join together by
N HMILD U HSSHT(H B)eNerRTeUS 6 STTERTLD

(A) sticking (B) differentiation
L 148 QEmeT@Ense GeumurLenL g6
(CW" tissue regeneration (D) drying
$l& M 2 (HeUTEHEHD smiBg Gunge

(E) Answer not known
ellenL @sMwaferensy
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98. Spreading of insulating substances on surface of soil is called

L5501 Qumnplsener warmpurlider ungsmiuns urlilleeasEd (pe

(A) lawn (B)¥mulching
He@euafl LoGoFlis
(C) ploughing (D) sowing
2 (LB clengsHed
(E) Answer not known
dllenL Qg flweldrenav

9.9. Which of the following is efficient in reducing water scarcity?
Qemeumeuanailed erg it LuppraGeperw Siiugléd Snbssg)?

(A) Xerophytic crops (B) Flood irrigation
cupeTLifle Lufrser Ggudrars urgebd

(C) Canal irrigation (DY Drip irrigation
LOGHL LITFETLD Qam’_ @ bir ungebd

(E) Answer not known
aflen Qg flweilcvenen

100. Which of the following is not correct?
1Qetreumeuateumdles eTgt &ifl eben?
(A) After emasculation flower should be bagged
gL oL T&E58DE Wer Lenau apl Geuam(Hid
(B) All anthers must be removed
TN LOETHS SMeTaH@EnHD BaariuL CeuammHib
(CW Only anthesis completed anthers are left
waIHsh CeuallGuPlu srearsamer i (h aSlLembd
(D) Emasculation must be done before anthesis
&IHS GeuallCuDDSHDE (WPe e L rssn el Ceuar(Hid
(E) Answer not known
ellen Gz flwelena
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101. Which one of the following is a causal organism of cotton wilt?

LSSl aum_e Crrenw 2 r_T&EELd siyenf]

(AW Fusarium oxysporum (B) Rhizoctonia bataticola
Uy Caflwib <y &fevGumrbd apas_GCLnaflwr CulCLL iy &Caman
(C) Cercospora gossypina (D) Cercospora solanacea
QanGasmevGuryr sreviberT QanCGearevGuryr QereGeardwim

(E) Answer not known
dllenL Gsflwelerens

102. The mycoplasmas are transmitted from plant to plant by

apald  enwCarlieTmevion ¢ Smeursddlmbg WWHRONWE SreurssHe

Lyaydlng
(A) Wind (B) Cattle
STHM) el ki@ seT
(C) Water (D”ﬁzafhoppers
B ey Fd
(E) Answer not known
sflenL Qgfwaléveneo

103. The nucleic acid of a virus is surrounded by a protein coat called as

aneurdlen Bluseails oudled @ipbgierer LrssHne erem Guwim

(A) Lipid (B) Core
Ofﬂﬁuﬁh; Gamir
( Capsid (D) Sheath
CasludlL &5
(E) Answer not known
eflenL Qg fwelldvena
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104. In lophotrichous bacteria flagellation is
GoorGumg enraen umdle flwreiles sensuflantp el
(A) Single flagellum on one end

(% Snsullenlp e UGS WL (Hb B)(HSELWD
(B)/A tuft of flagella on one end

sansuilen Qarssns g LUSHD WL (KD Gl (HEELD
(C) Flagella tuft on both end

sevsudlenp @rewt(h USSP B(HEHELWD
(D) Flagella all over the cell

senFullappaHer T LIESESHD B)(HE @D
(E) Answer not known

eflenL GsMwefdrenew

105. Envelope, covered with small projections called spike is found in

2 enpuilen G BL 14 sQETamg HEEGHD dvenus erdled Bienw QubmyETaTsy

(A) Bacteria (B) Mycoplasma
umsig fwm anyphssmalemmeniom
(C) Fungi ( irus
LLEH&LD EHEUTEL

(E) Answer not known
ellen GsMlweidrena
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106. Which of the following is a mycoplasmic disease?
Spé&sarrLeupmeT erencu ens&Gamiarmavmelland erhu@n Cumd?
(A) leaf curl of papaya
uliuratlulley @enedsmar Grm
@ little leaf of brinjal
sgMulle eussgHnE wrpns Hm @eaager GCsmemmeug
(C) red rot of sugarcane
g Heulr (s Crm
(D) leaf spot in groundnut
sLene Qaquiled gouid Geneoliyerefl Grm

(E) -Answer not known

eflenL Qg flwelevenaw
107. Red rot of sugarcane is caused by fungus.
smbYle fsiy s Coreow gohuBsSgId LErams UGG
ENTHSSTSLD.
(A) Ascomycetes (B) Basidiomycetes
2, CETELLS e 6V LA CuiIr el e 6iv
( Deuteromycetes (D) Myxomycetes
g ub 1 Crmranodl e 6o BI&CFTentElL e 61

(E) Answer not known
aflen QsMwaficencw
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108. Binchy Top of Banana disease is caused by virus with

aumenpulileh 2 5415 Qangg Crmu gHUBSSID eveurTen Olsmamr_g
( ss DNA (B) ds DNA
ss DNA ds DNA
(C) ssRNA (D) ds RNA
ss RNA ds RNA
(E) Answer not known
eflen. Qs Mlweildana

109. Viral genes are made up of

110.

GHEUITEN e GTHETME 2 (HeUMESHLILIL L )7

(A) RNA only (B) DNA only
RNA ! (> DNA w @i

(Cy\” either RNA or DNA (D) either Protein or Nucleic acids
RNA ooz DNA wi_ (o 4TS v Hluseils 81 (b

(E) Answer not known
sllen_ Qgflwueicrena

The causal organism for Blast of Paddy is
Qmevedlen Wermev Crmigasman snyenfl erg)?

(AN Pyricularia oryzae (B) Helminthosporium oryzae
e iflé e Cenmilir epengGs ameiblenpGamavGumfliuw eangCs
(C) Xanthomonas campestris (D) Xanthomonas oryzae
CanGsrGmenay sruavig flav CabGarGreren eamyCs

(E) Answer not known
eflen Qg Mlweldeame
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111. “Rosette” habit is a peculiar characteristic features of
“Grrem @s1p" eug e Gewrbd Garem Crmudlen Guwim

(A) Citrus Canker (B) Red rot of sugarcane
eryilFanguler Caenaim (LienL LiLjesr) amLde s Crml

(CW™ Bunchy top of Banana (D) Wilt of cotton
aunepuiled 2 55 Cangg Crmil UmSSudlev cumLcd G

(E) Answer not known
cllenL Gsflwaldene

112. The cell wall made up of mucopeptide is found in
WyGasrEuLlemL(H L6 wyar QFgelT o aTerTane 6T ?

(A) Algae (B) Fungi
urélaer L, EHFTemaeT

(Cﬁacteria (D) Virus
ursl g Awm AGUTEN

(E) Answer not known
alen Qzflweilcbenar

113. Lysogenic cycle means

eaCangeis Hlpnsl eranmme eTesen?

(AW irus does not multiply and no death of host cell
avauren QarlGLmEsb QFiing s1&e68 g w 2 ulflearapd Gnssng)

(B) Virus affects Bacteria
@eure, Unsgflumeney Sn&@eug|

(C) Bacterium lyses and newly formed viruses liberated
Lnsig b seull 2 el bg eneurevse HeuaiCGuw cu(mHeug)

(D) Growth cycle of HIV virus
HIV eveugalen cunpsena spnd wpenm

(E) Answer not known
ellen @z Mweichene
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114. Botulism means

UL (hefle eremug)

(A)

(

(©)

(D)

(E)

Disease caused by staphylococcus in man
auCLanuCansTasead ame weallgaisE apubhid Crmi
a type of food poisoning caused by clostridium
&Carmevg Ml wggme rHuLDd 2 anre | qeucumanin
Water borne disease in man

gewres ey ekl E JhudLD Crmitser

Disease caused by Xanthomonas in citrus
CanCsrGurarmand egiiiFamauiies erpuiiid Crmu
Answer not known

eflen Qg flwellcvaney

115. First cyanophage was discovered in 1963 by

1963 & gpgenaperpwing winyred erswCeammGung semHidliy SaHliLc L g)?

(A)/gafferman and Morris (B) Kates
CeliuGuer wpmitb Gomflen Ca_ev
(C) McAuslan (D) Roper
Qossievevmen Gorum

(E)

Answer not known
sflen Cgflweldene

116. Which one of the following is the smallest organism?

Spsaseareupmer eraneu s Adlws Fiemamuif?

(AAycoplasma (B) Yeast
mw&Gamiarmeviom FaLL_

(C) Viruses (D) Bacteria
GO TS EIT ursteflum

()

Answer not known
slen Qs flwefNerene
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117. Bacteria are considered plants because
ursleflumeney STEUTONS S(HSICUSDES SMTERTLD
(A}/I‘hey have cell wall

QEed seurm 2_enL_wig)
(B) They can move
B&H(HLD SEMEDLDU|GTETS)
(C) They are found in everywhere
Smagg QL hisaflgyn Hlrbujerarg)
(D) Can multiply by fission
LGV LOL_1BI (3 Wlemeygen
(E) Answer not known
aflenL Qs flwefevensy

118. Citrus Canker is caused by

crayfiFanguilen Caenat Ghrenwl 2 (Heursseanigw 2 udf

(A) Cercospora (B) Colletotrichum
)}&r’r@&;m&)@u Ty CaredGLmg enydaid
(VS Xanthomonas (D) Pyracularia
FMIbSGLOTETTER anurGGeflwm

(E) Answer not known
efenL Qg flwefdane
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119. Which one of the method is used for disease management in Blast

disease of paddy?

Qpeveiier Qeuig i) Grrenw SL_HULBSSHID (pem 618)7?

(A) Pruning

55550
(CV" Proper manuring
Gungloren 2 yriseT
Answer not known
eferL GgMwefdene

()

(B) Early sowing
(LPEITL| DETMHENEUSSEL
(D) Seedling treatment
BIHDHBRISTE (LD

120. A change in the amount of disease in a population in time and space

121.

Qs eamafllsamsuion Cryb wHmL e Qeuefleows Qurmysgs Crmisefier

(A) Epidemic
TP L0

(C) Epiphytotic
erSlenuGLmg &

Answer not known
eflenL Ggfweldweane

()

aremanflgeng wIMUHSME eTeueuTm) @qm@é;&le;r??

(B) Endemic
eramrllL_LO0&

(D) Sporadic
euCLITGymg.&

is a most primitive type of sexual reproduction in algae.

undlgafien LimedlenGlLmEs penmpulled

(A) Anisogamy

SienereamGad

(Q/fsogamy

oCenGad

(E) Answer not known
dflen Qg flwefcrene

eremug) Liflemmiod @emmlugm@Lb.
(B) Oogamy
oar(Gg L0
(D) Autogamy
2L CLrGsLA
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122. Diplobiontic type of life cycle is found in

g LIGemmLIWLINGTy & eUMp&Eens GLMHS (1pepm cTEUMMIET 2 dTarg)

(A) Vaucheria (B) Oedogonium
eue Sl earGLrGsrefluih

(C)/Polysiphonia (D) Spirogyra
unellens1GLimesflusm e Grmensgr

(E) Answer not known
sflenL Qg flwalcrenaw

123. The non motile male gametes are found in
ELp&asamLeubmieT B&(HLD Seentd BiHMH Sper CHWBIL ereummieT & emerg)?

(A) Chlamydomonas (B) Oedogonium
SHearmbCL_nCurenmev erGL_mGasmesfluid
(C) Ectocarpus (DY Polysiphonia
T&CL TS MTLIG vmredlensliGuimeflum
(E) Answer not known
cllenL Qgflweierenay

124. The pigment fucoxanthin is found in
WerGeurgmpdlen HipLl ereummier 2 ememg)?

(A) Myxophyceae (B) Chlorophyceae
W&CarenLd @&GermGrmenul

(C)/f’hanphyceae (D) Rhodophyceae
GunCGurenuél CrrGLrmerué)

(E) Answer not known
eflenL Gsfwelcene
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125. Clamp connection is the characteristic feature of

Henmbdls GenewtiiL] @eumdlen (pasEwL LeTLImEGLD

(A) Myomycetes (B™Basidiomycetes
anCGuimenLo&ILL 6 Cudliy Guirendl L

(C) Deuteromycetes (D) Ascomycetes
4Lt CrmenodlL_Lsiv SevGaTenLOSIL_L 6

(E) Answer not known
eflenL_ Qg fluieflerensy

126. Which fungus is called the Guinea pig of plant kingdom?
SpaanL y@rengulle ereneu Haflwum 198 eren sampssliupg? -

(A)/Aspergillus (B) Polyporus
peLITERl a6 urelGuimyen

(C) Colletotrichum (D) Albugo
Q&ralGi_mg.enyab < oGam

(E) Answer not known
eflen Qg flwelcrensy

127. White rust disease is caused by
Qeuanrgim Crmi Gganme 2 e m&sluBEng

(A) Yeast (B) Polyporus
FFEL_ uredlGurmyei

(e AAbugo (D) Puccinia
SoyGam ugadlaftwim

(E) Answer not known
cllenL Qsflweldene
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128. In algae, the life cycle with both well developed sporophyte and

gametophyte is called as life cycle
QenuCumss umpsens sPpHFFluiler Cadl GLmenul wHmid evGunrGrrenul. @rearm(hib
gwsne LEGHwns @mLliLig, sSpndl @Y.
(A) Haplontic (Bygz;plodiplontic
Canliermarig & CantiGermg ierramiy &
(C) Diplontic (D) Diplohaplontic
g LI GITIT 68T 19 &5 4 L1GarnGanLieTmeiTiy &

(E) Answer not known
' eflenL Qzfweldenc

129. In Lichens algal partner is called as

wadsansatia o_arar Lmélsar erem BenLp&sLILHEDG.
(A) Commensal (B) Parasite
SMDESTFTE UIGTengL_
(C) Mycobionts (D)}*Phycobionts
W CSTen LILITEEsTL_60 UGS TEn UL TERTL_6V

(E) Answer not known
sflenL. Qg Rwielcena

130. 1s known as Reindeer Moss

Qpullémert wmev eTemm AP&ESHUILIH 6

(AM Cladonia rangifera (B) Aspicilia calcaria
SemmGLrenm gremeGluigm Ijevlifldver sroGasflwm

(C) Lecunora coxicola (D) Cetraria islandica
QevaGarmym sr&dGameam Qe Crflwm geomeimig &m

(E) Answer not known
cllenL Qs fwelerene
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131.

In Fritsch system of algae classification it is divided in to
unflgenar arssepan eu@GuLgerns ANCE 9NGgeTarni?

A) 4 (B) 8

C) 6 (D)4

(E) Answer not known
ellenL Qg flwefdenay

132. An example for unicellular fungi

133.

(1 CFD LLEhenasE 1T 2_STyerTLD

(A) Polyporus . (B) Albugo
uredlGuimye 2yGar

(C)Aaccharomyces (D) Puccinia
&&&nGrrenwbaen usSleflwm

(E) Answer not known

ellenL Azfweildena
Usnea is a
2_egalum eTemLg)
(A) Crustose Lichens (B) Foliose Lichens
SlravGLren enqdsen CunedGuimen enevd&:es
(C)/ﬁ-uticose Lichens (D) Lichens
L1 Camev encossHen BDEVESHET

(E) Answer not known
sflerL s fweiidvena
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134. Symbiotic associations of fungi with algae i1s known as

Lesens omib undlseflen s Huill cumpsens eTemig,)

(A)/Lichens (B) Bryophytes
& &E LiengGuimeni
(C) Pteridophytes (D) Gymnosperms
QLAGL menLi_ s Gemmev@ufd
(E) Answer not known
eflenL Qg Mwellevenav

135. Isomorphic alternation of generation is found in
2 (Heud 58 &hsd wTHHD Gleusilangdled dlwuliLBng

(A)/Ectocarpus (B) Oedogonium
T&GLISMTLGD oer_Gamreflwib

(C) Coleochaete (D) Chara
CaralGurs G Gsym

(E) Answer not known
sllenL Gsflwelerenen

136. Point out an example for foliose lichens
ST(EHU MNVEEE) GG 2 FTranid e[

(A) Porella (BY Parmelia
Cun@reveor umrmdeSwm
(C) Graphics (D) Buellia
Srmlgev Wugeblusm

~ (E) Answer not known
aflen GgMweleena
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137. Which of the following tallest ggymnosperm?

Weneumeueeunmle e o wigwren BlibCearmevGuniy sreurh org)?

(A) Ephedra (B)Y Sequoia
enSgm Qeguyumr
(C) Cyecas (D) Pinus
WMEFGE UGG

(E) Answer not known
eflen Qg flwelidane

138. The living organism infected by a parasite is called
gL (Hearenilgenme o ulmerer 2 Wiflgaer grésliLhHeusnE

(AW Host (B) Haustoria
eflmpsefliiueu anreuGLmilwr

(C) Decomposers (D) Saprophytes
Seng&HeE Salq WeUTEET &y etoreust]

(E) Answer not known
ellenL Qg flwelidanen

139. Yeasts are the sources of Vitamins in

FEUL. eTeTLIg) 6THS eeul_L LNGTSETIE pLPEESHTTERTLD

(4) A (B) D
A D

(C) E (DYB-complex
E B-a uQurmerser

(E) Answer not known
sflenL. Cgflwelcrena
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140. Lichens grow on bark of trees are called

sreugrtisafien Ll el _sefle) ueTHD m&EaTaeT @eueumm HaWsaElLHEng).

(A) Saxicolous (BY Corticolous
gn&SGameeiv &g CHraven
(C) Lignicolous (D) Terricolous
N&aCameve QLANCGamevev
(E) Answer not known
ellenL Gz Mwelcoane

141. Stele includes

auiecbsatich 2 dTeng

(A) Vascular tissue
eumeGeTT Sl&

(B) Vascular tissue and piths
cumev@eomt Sla whmibd GCamy

(C)/Vascular tissue, pith and pericycle
sunev@Gemt Sa, Gemmy wHnw ufassdlear

(D) Vascular tissue, pith, pericycle and endodermis
aumev@en Sa, Carm, Quilenssdlar LHMIL eraTGL MG M6

(E) Answer not known
ellenL Gz fMwelcrena

142. Fern plants is grow in moisture and is called as
Qupenfls  smeugb  mrlugwrer  Hlevauley  aumpdlemer  cenGe  @eueummy

SepsaliuiSermen

(A) Mesophytes (B) Hydrophytes
BCsmenLIL_(H&er Breump sreuyid

(C) Xerophytes (Dﬁ/ﬁ;rgrophytes
cuperTLflevd smeurbd eman&Grmenu_(H&er

(E) Answer not known
cflenL G Mlwelcvene
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143. Which of the following is known as club moss

&G QarRssIuL_(HeTer aTg) 6Tl ey eremm HssiLbhiEng?

(Aﬁycopodium
nVSCHTELIMIG WD

(C) Marsilea
wileShwum

(E) Answer not known
eflen Qg flweicenen

(B) Psilotum

enaFGevm 11D

(D) Cycas

NFEG)

144.‘The sporangia of' a sorus are attached to a swollen placenta through

2 (mewTenLwinen ruISH 6D coGuriaer i midlu svCumrrerdlusng eremer GuwiT?

(A) Sorus
Gemyen

(C) Romenta
AL A=

(E) Answer not known
eflen Gz Mweldwane

145. Psilotum consist of
s L ereupenn QupHmasms?

(A)Aoot and stem

Gaurm womid ser(h
(C) Stem and leaves

Seit(h HMmILD Benaw
(E) Answer not known

aflenL Qg flwelcvency

(B)*Indusium
@erHAwb
(D) Spore

evGuIrT

(B) Root and leaves
Geuir DD Eened

(D) Root, stem and leaves
Gaurr, gawr(h HMILD &)ene
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146. The synangium in T mesipteris is

q-ﬂé\ﬁqrﬂ@fo-e&r é]arrrrsiﬂghuto CTGHLIG)
(&) 1 lobed (B)/Zlobed

1 bLé 2 e
(C) 3 lobed (D) 4 lobed
3 L& 4 wL e

(E) Answer not known
sflenL Qg Hwellcrena

147. Spore producing organ in psilotum is known as

angGam L glev svGLimigener 2 Hugd Ceibd 2 myliL 5@ eremen Quwim?

(A) Strobilus (B) Sporangium
galDL] avGUTGrEpdlwid

(CV¥ Synangium (D) Sorus
Aaflyepflwuid Genren

(E) Answer not known
elenL Qsflucidame

148. Vascular cryptogams are

QUGG LLQUMTSSTEU JTEIGET 6T6LIeNa.

(A) Algae (B) Fungi
DS TESET LL@henEHET

(C) Bryophyte (Dyﬁeridophytes
CnQengGuimenui QLAGCLmenu_ .

(E) Answer not known
aflenL. Gsflwelevenco
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149. Simple vegetative plant body which i1s not differentiated into root, stem
and leaves is

eraflw gmeuy 2 L euib Geur, serm(h HMIL @enwaar eremn CoumiLhiss @wenss

(AW Thallus (B) Theca
STeV6n glesm

(C) Zygote (D) Rhizoids
angGam_ eogemi(h

(E) Answer not known
eflenL Qzflweldena

150. Who proposed the alternation of generation in Bryophytes?

LiengGuimenuiiged sHg$ omdmibd erem Quwfl_eum wimi?

(AW Hofmeister (B) Rothmalar
anrUSlevL i Crngrei

(C) Howe (D) Schimper
aneu oAb

(E) Answer not known
sflenL Qg flwelevenay

151. The plant body in bryophyte is a

DengGuimen il g 6T 2 L 6LD 6(M

(A) Sporophyte (B)*Gametophyte
evGurGrmenul_ sl GLmepul_

(C) Saprophyte (D) Parasite
FmmicRTentl L (Herenfl

(E) Answer not known
eflen QgMwelerenen
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152. Gemma cups are present in

EpaenrTL gpanled Qepitbiom &L erdled 2 ararg)?

(A) Riccia (B) Marchantia
Mg wsm WOTTSSTETEILIT
(C) Anthoceros (D) Porella
2, HCHTAFTmaL GunQreeom

(E) Answer not known
eflenL Ggflweddane

153. Retention of female gametophyte within megasporangium forms the

basis for

Queamr  Call CLm.enu_Basemer  GwsmevGurymErdwgssleanertGer
CaraTaug) @) &6 <2ig LILIGPLUITGD 4,608

(A)/seed habit (B) Evolution
efleng euamflwicory Wik i T

(C) Growth (D) Spore habit
auemEs evGuinm eueTflwedLy

(E) Answer not known
ellen Gz Mlwelane

154. When the gametophyte is enclosed by spore wall it is called
Call_GLmssenuil euGELINTT &eurmed @UIL g (FHESTE 218 @)eueuenaiti(Hitd

(A) exosporic (B) mesosporic
eraevBaravCumils BCerenCuimtis

(C)A/e’ndosporic (D) asporic
erasrGLmevGumflss ' erevGumilé

(E) Answer not known
eflenL Gstlwedena

Botany 62

$EEMSHS



155. The zygote of pteridophyte develops into a plant having roots stem and
leaves, which is called

QLAGLemul Hsefles egCGanl, Geoulr, @anew, e 2 el FTEUTLNE eueTiSDg).

igem QU
(A) gametophyte (B) seedling
CadlCLmsanu BrHm
(C) embryo (%orophyte
&(M ' [ LETH 1164 [ P~ TR T
(E) Answer not known
' dflen @sflweldensy

156. The gametophytes of pteridophytes are reduced to the size of tiny heart
shaped structures called

QLAGLM . amul(hagafler  Cal CLr.emul(Reer meawenfly  @msw  auigelleome
GNBSSEUMDLILITE @My Nenpdsliuhidlsmpen

(A) metathallus (BY prothallus
QL rgmeven HCITSSmeven
(C) seedling (D) thallus
BTOD STEN
(E) Answer not known
eflenL Gz flweicrenc
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157. Which of the following arrangements is correct according to progressive
evolution of sporophyte?

Yemeumeuameupmier erg evGUTGRT. .eru_(Raatfien eueTihlenay uflamrmo Ly sflwmesr
auflensufled emwssiu’ (HeTerg
(A)/Riccia — Marchantia — Funaria
M&edwr — wrissaradlwur — Sy Canflwm
(B) Marchantia — Riccia — Funaria
wridsaradwr — faellwir — Sy, Carfluir
(C) Funaria — Riccia — Marchantia
ool Garflwm — Masedlumr — wrigsemadlwm
(D) Funaria — Marchantia — Riccia
ool Garflwum — wrisseradlwir — Maedlwm

(E) Answer not known
elenL Qg flwalicoana

158. Which of the following is an aquatic Bryophyte?

Epsar_eneusafla erg) Breump SenpGuimenu @b

(A) Riccia plana (BY Riccia fluitans
fasdlwr Lermerm A& wm "eL1eermL_etren

(C) Riccia reticulata (D) Riccia gangetica
Meflwr Qrig@Gerlmr f&Slwr CaErllaigsm

(E) Answer not known
sllenL Qgflwelcrene
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159. The elaters are found in

SpsaLaeusafier eraLien smamriu@n UGS

(A)/Sporangium (B) Antheridium
ev@umrrenlwd < endfliguib
(C) Archegonium (D) Rhizoids
<, T&SCaprafluin emFeEmL_av

(E) Answer not known
eflenL Qg Muedrena

160. The spore producing part of psilotum 1s known as

wsGom_ L gdle evCunisener 2 e 1&&&8mIq L UGHEES erémmy GluwiT
(A) Sorus (BVWSynangium

Gamryen AermerHwb
(C) Strobilus (D) Sporangium

v _GQbleven avGumyEpflwd

(E) Answer not known
sflen Gsflwefvene

161. The cold blooded animal spenks have relatively shorter and poorly
developed eyes, hairs and other pheno typic characters. This is known by
which law?

@aflt Qrssperw domEsersg win on@smerel. AHlw WHHL Geneurs
euenr&lpm SemaeT, (pyseT wHOID BT UnsCsrhn uamysmert GuDmy @H&HESLD.

Qg s efiflenw GH&E0L?

(A) Cope’s law (B) Dallow’s law
Camlien aflg) LeGeomen )

(C) Bergmann’s law (DY'Allen’s rule
QuitsCloeev edlgl <jeerev el

(E) Answer not known
sllenL @gflweficrena
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162. The most important Indian fossil is

@rdwg Ggréd greurelwedie

eTenp QHmed smeur (WPE&EWLTETSTS

B 1ll1amsonia sewardiana

el el undCemeflm QFeunig wiresm

(D) Lygenodendron

el GamimllL_agr_imatt

The -cycas ovule, the nucellar beak disorganize to form a hollow cavity

asssallen @edled amestant metlwnerg, fasbs @ QaundiLb o maurdng. @sen

HHSULHSDS

(A) Lyginopteris
ancugilenmiGl_Mev

(C) Cladoxylon
SlarmGLrengemen

(E) Answer not known
ellenL @sMwelerene

163.

called

Gl

(A) empty space
QeummdlLb

(C) pollen
LD&FTHGLD

(E) Answer not known
sflenL QsRwelldvena
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&5 (1 28T GHoT

(DYpollen chamber
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164.

165.

Which of the following is correct in cycas?

Wemeugheuameuddled et engdgen smeurld DO Fflwimer SHoHS)?

(A) The gametophytic stage starts with mitosis and ends with meiosis
Cal CLssepu’_(h Hlena enw_tmedledlay geumdl Wwimeslenled (pig euenL_Sma)

(B) The gametophytic stage starts with meiosis and ends with meiosis
CaflGLenu_ (B Flene Wlwmedledleh geurdl wmadladled (piyeuenL_&lpsy

(C) The sporophytic stage starts with meiosis and ends with meiosis
GUTGrm.arul{ Hlena Wolwmedladley geuridl Ilwmedletley (pig-auamLSmg

( The gametophytic stage starts with meiosis and ends with
syngamy '
CallLCLm Ul B Henew Wwnelledler geumdl gnenm &m OFaadenamriide
oL Epg) ' ' '

(E) Answer not known
eflenL Qg flwelevenaw

The gymnosperms are distinguished from the Angiosperms by having

EpsanrLeupdle  addlmbg  bCammavbumbsedr 9 EpflGurev@umbaatiel b
CeaumuB s

(A) True vessels (B) Sievetubes
o GTeniblLimen Gleusne&er FORMLS GLPmU
(C)A.\Taked seeds (D) Companian cells
Sobs ellens swunelwen Gaaen

(E) Answer not known
eflenL Ggflwelerenen
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166. Which of the following gymnospermic plant yield sago?
&G Gar@ssuul Heter PbGamev@uid sraurmsaid eaaupMdmpg geuafs

ThHE&ELILGHDE?

(AX/cycas revoluta (B) cycas circinalis
engsev Gleugyr’ L m nggen Fr&learmedlen

(C) cycas rumphii (D) cycas pectinata
anggev Crmbifwi enggav GlugyGerLm

(E) Answer not known
ellenL. Asflwefdena

167. Which of the following gymnosperm is a maidenhair tree?
&G Qar@asiu_Berer gbGarmen sreurhiseild (pdibhs WD eren HemPsasLLIGeug)

oT&?

(AM Gingobiloba (B) Podo carpus
elenGar epLiCeorum GunGLr sriiuey

(C) Taxus (D) Araucaria
GL_sa6n 2GrmCasMwim

(E) Answer not known
sflenL Qs flwrefdency

168. having largest ovule in the plant kingdom

sreur wear_gse Baitufu @G mé Garare smeuyib

(AW Cycas (B) Gnetum
HE&G B b

(C) Podocarpus (D) Cupressus
GunGLrariueu GLITeLF6

(E) Answer not known
sllenL Gaflwefdana
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169. Which place in Tamilnadu plant fossils are preserved?

spasEld eriiE sreuy Ggmaedlued Lig biseT LTgsTssLILHSarmen?

(A) Chennai

Qeerener
(C)/Ariyalur
‘Siflwgynt
(E) Answer not known
eflenL GgMlweldweme

170. Which is the tallest conifer?
LBl& 2 wimonen Caren@QuiT SreurD erg)?

(A%Sequoia

QesCamum

(C) Cedrus
& yev

(E) Answer not known
eflenL Qgfweiidene

171. Palaeontology dealing with

(B) Coimbatore

Gameneu

(D) Madurai
OGN

(B) Pinus

SNLIGHTED
(D) Thuja
angm

Qg medgumuiflwicd eremmugy ereng LB LigILSMEGD?

(A) Study of cancer
yHmCrTL LM U LIng)

(B}/gtudy of plant and animal fossil
Qs reauuiit sreurb wHmib efleki@samar LHH Lilg.L1L1g)

(C) Evolution flora and Fauna

greunib O eSenigsaiar uflamTogams ibleug

(D) Study of Palynology

Qgreguuilit svCurTsemaT LIHM Lig LIL1g)

(E) Answer not known
efMevL Qgflweldwensn
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172. Coralloid roots found in
veuer Geuger srenTUiLI(Heug)

(A)A]ycas

MNFHG

(C) Gnetum .

ﬁLLm

Answer not known
eflen Qg flwefcrena

(E)

(B) Pinus
LIGITG
(D) Lycopodium

anaGaTGLImg Wb

173. Which type of ovule is present in cycas?

&ESHE HTeUTSIET CTHS U @6 sTerULIHSmg)?

(A) Anatropus
Sjem_Grmuen

(C) Hemianatropus
Qand e’ GCrmuen

(E) Answer not known

eflenL. Qg Mweildena

174. Xylem of gymnosperm lacks

(B)? Orthotropus
< MCgm_Grruen
(D) Camphlotropus

QaenuGar  Grmue

B Carmev@Quiibsafldr ensagdler SpasamL ans Ce) sTarTULILTE)

(A) Tracheids
14 7EE HEeT
(C) Xylem parenchyma
HFELD LiMTETen LT
(E) Answer not known

eflenL Qgflwefleena
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(B)¥Vessels

QU &

(D) Companion cells
smbureflwer Qacvev



175. The living fossil is

SMeuFLILIDRIGET O euTphg Csramiy (HEs&amiqw gibGarmevGumd smeurbd

Dh(GLD.

(AW Ginkgo biloba (B) Podocarpus sp.
BT enuGamum CurGLramTuen

(C) Pinus sp. (D) Gnetum sp.
enuIETan B b

(E) Answer not known
ellenL Qg flwelcraney

176. Sporopollinin of pollen exine (external cell wall) remains are example for.
&I5HS gheatlen Geuaflilim araeneves (Glae seurl) HLssH @eudMled TEMHE e Sryamid

(A) siliceous material (BYfactual remain
SHedladlwen Qunmer <2tugGw BhHmssed
(C) product of plant (D) pseudofossil
gmeuy 2 pHuss Qun(mer Cumal yeng Ligeutd

(E) Answer not known
ellanL_ Qs fMlwefdana

177. Bars of sainio is a characteristic feature of which of the gymnosperms
word?
Spsarr GiCarmev@uid greugrigaties umien U CQswafiCur sherm eThs 19Nlefen
s et _gafled smamriini(in?

(A) Pentoxylous (B) Pteridospermous
QuenrGLT engovan QLACLrevQuine

(C)/Coniferous (D) Ephedrus
CaraflGlurev en9lig e

(E) Answer not known
aflen_ Qgflwelerena
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178. “Age of Coal plants” was

‘Yens &Ml STeummISET eTam HWPSEUULL G 6THS STeLd

(A)/Carboniferous period (B) Cretaceouss period
smiGumhlGure sreb Sy G flwiev smeld
(C) Triassic period (D) Permian period
4 enTWrEld Sreod Quillwen smevld

(E) Answer not known
ellen_ Gz flwedcrens

179. The seeds of pinus gerardiana are edible and known as

‘wuerey  Geopriglumer  eflengseT o qmens  H@HIM  @@el  GeueTmns

SenpsslinBREng)

A) Kail (B) Chir
MED &

(O Chilgoza (D) Testa
HoGamar Qe

(E) Answer not known
aflenL Ggflwellevens

180. The pollination in Ginkgo is by which means?
BEGsn greursdle warps Consams areuailssdled penL umdmg?

(A§/Anemophilous \ (B) Hydrophilous
ieflGomere ananl_Grmerav

(C) Ornithophilous (D) Zoophilous
<, TeflgCamilemev 8O Qemeiv

(E) Answer not known
cllenL Qgflwelerena
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181.

182.

183.

Saccharum officinarum is the binomial of ?
g&&TIL G Aam erenp sreurellwed QUwT aTBE FTauTsSEDE GL-LuL(HeTerg?

(A) Wheat (B) Paddy
Canganio QEed

(C) Rye (DMSugarcane
grd) &(HLDL

(E) Answer not known
eflenL Qgflwelcdanav

Which is the largest family among dicdts?
B meisHema GHbusHD WsHELRW @HDBLD erg)?

(A) Fabaceae (B) Rutaceae
GuGué e GL&
(C)\Asteraceae (D) Anacardiaceae

<L Crél Siangmirg Guidl

(E) Answer not known
ellenL Agflweldrena

How many orders are there in Bentham and Hooker system of
classification?

QuiBsbd wLOHYD apOssr  sTUF  wesUUMigd TEFar  GHDURSATTS
WA&sLuC(ReTerg) ?

(A) 101 (Bsz/oz

(C) 303 (D) 404
(E) Answer not known
dflenL Qgflwelovena
73 Botany

[Turn over



184. The other name of Apiaceae is
Fl@Cwedler HQ@mmm QUi eremen?

(A) Graminae | (B){mbelliferae
SrmACQerGuw 2L QAUGFEW

(C) Caesarpineae (D) Labiatae
QensmYGarmGu CallGuL_GL

(E) Answer not known
eflenL Qg flwelcrane

185. Mention the common name for Withania somnifera
allgsmaflm gmberfls sGlugm eflen QurgiGuwieny gams.

(A) Serpina (B) Hing
QarnSesr PN AT

(CW Aswagandha (D) Neer mulli
SIS HST B aperefl

(E) Answer not known
eflanL Gz Mweilcrencw

186. The best known species of Albizia for wood is
iyl vweTur_ (W@ Snbe e Adwim efler miblemd

: (A)/Albizia lebbeck (B) A. Odoratissima
D Clews ) <. @CLrGy g flomr
(C) A. Procera (D) A. Stipulata
<. yGgrnéym 3. g yGeLm

(E) Answer not known
eflant_ G flwelevenay
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187. Some of the rare palms are
oo Ml LUEST EUENS LOITHRIGET
(A) acarpic
SMUS&ETSHEG6L
(C) polycarpic
ueapernh STULILIEHGY
(E) Answer not known
elllenL Qg flwelcrenav

(B)"gnocarpic

&@Cr @ppen STULILINGY
(D) syncarpic
Gy Crrsdle smiliumeal

188. Michelia champaca belongs to the family

@w&CsalL QFbLsTabs GHbusms CaHbEg)?

(A) Rutaceae

epL_GLe

(C) Leguminosae
Qa@WCamCs

(E) Answer not known
eflenL Qs flwelcene

189. Motor cells are present in

(B) Anacardiaceae
Siengmig Cuidl

(D agnoliaceae
Cu&CamalGuwid

s Leoeuanssafley Goml i Gadsar smeawrliu)eg,

(A)/ierophytic grasses
eumeRTL[5lod LjebaaT

(C) Mesophytic grasses
Bhblene Ljedser

(E) Answer not known
cflenL Ggtlwelcene

(B) Hydrophytic grasses
Breump Lyéser
(D) Fodder grasses

Souerm Lavger

Botany
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190. Saffron is obtained from which part of plant?
GRGLLY, aThs srauriiLGHls Qnia SoLsslng

(A) Dried pollen (B) Ripe fruit
2-QHS LOSTHSSET L(Pss LD
(C) Dried seed (Dﬁried Stigma and style
2_QMhs edlans GOl LDHMILD @6 STDL
(E) Answer not known
ellenL Gz Mwelcensy

191. Which of the following plant has Monaliform root?
’ Epsermcupmieh aThg smeurb Gwreatrellumib Ceuey Qairem(Hereng)?

(AW Momordica (B) Tapiaco
Gomomig&m Cru9Cwinan
(C) Orchid (D) Dahlia
D, MEIL CreSlwm

(E) Answer not known
sllenL Agflweldena
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192. Match the following:

1Getreu(meuseupenn GlLIT(HESs:
Stem modifications Morphology
S&TIq 6T LOMMmILIT(HEeT Hm&GHTHMD

(a) Agrial 1. bulb
SenyGLed rmun® GWIPLD

(b) Sub-aerial 2. climber
sanrSLp wrmum Qamg

(¢) Underground 3. runner
senmuwig wrmur( RCEEC
( (b) . (o)

(AY*" 2 3 1

B 1 2 3

< 1 3 2

o 3 1 2

(E) Answer not known
cflenL Qg flwelens

193. Which of the following species is Egyptian cotton?
&G Qan(éain’ L Apdlentsaties sreneu erdlisg) LmEH cran empssiLBSHng ?

(A)V&Jssypium barbadense (B) Gossypium tirsutum
Sl Suid LimiuLete srdlinuid elig o

(C) Gossypium herbaceum (D) Gossypium arboreum
sl CQeaniCudluid SrOGhD oy rGumlwid

(E) Answer not known
eflenL. Qgilweleenay
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194. The fruit of Apiaceae is called as
TGS o busHer safl ereucummy SanpssLILHE DS ?

(A) Caryopsis (B) Samara
GesMwmriiflan QYT

(C) Drupe (DYCremocarp
LemLs LGN ET W)

(E) Answer not known
eflen Qg Mwaildvenay

195. Name the plant producing the gigantic flower
&g Sneurbd MeUGufw Leme 2 heun&GHng?

(A) Amaranthus viridis ( Amo}‘phophallus litanum
Sgrhse eflifliy av omrGLTGueven enL_ L L memmd
(C) Polyanthes tuberosa (D) Morus alba
uneShwumengen gy 1Gymam Cumgen et

(E) Answer not known
eflenL Qgflweficrena

196. The type of infloresence found in Leucas aspera is

Uss6 avtlugrailed 2_erer ehsflullen cuans

(A) Capitulum (B) Hypanthodium
Cail(heotd @D UILIGTGSH TG UILD

(Mferticellaster (D) Cyathium
QeumgHCeo L ' enFWmSSwib

(E) Answer not known
adlenL Gsflweierency
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197.

/

Bamboo plants belongs to the family
epEIFI FTeUTEIGET 6Ths GHbuSms Caingg?
(A)\/P;ceae (B) Convolvulaceae
o GUITGWeN sanreumea|Geven]
(C) Boraginaceae (D) Orchidaceae
Cump & Gemrend < T&EGCLed)
(E) Answer not known
eflenL Ggflwelene

198. The racemose inflorescence with sessile flowers is called

199.

ambleens QredliGumen WwErsfl 2w wer @eueurn imPsSUILIHSDS?

(A) Corymb (B)¥Spike
&rilb enLIS
(C) Panicle (D) Umbel
urefl&dlar S|bUET

(E) Answer not known
ellenL Qg fwelérene

Which of the following is not an underground stem?
eeu(heuaTeuDIIET 68 SMTESLD SAT(H DD ?

(A) Rhizome (B) Tuber
eorGamb &lipki,
(C) Bulb (¥ Cladode
@ONpLD HernGr_m(H
(E) Answer not known
sflenL Qg flweloena
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200. Choose the odd one of the following

Qurmpbsns eenenp Csiey Galis.
(A) Mangifera indica (B) Anacardium occidentale
o e5dls Gl B)evrig &iT (g iitg uith sl _erGLe)
(C) Pistacia vera (DWAloe vera
tSav_mrenShisr Geum <, Geovr Geugm

(E) Answer not known
eflenL Ggflweddana
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